4

| , Dol e  [Total Marks ; g
‘Time : 1 Hour] e s ~
3 7)  The decomposition of NH; on platinum sugf,
®  Select the following questions with proper 5 is zero order reaction. What is the ratg’
alternative and answer it : :  production of N, if K = 2.5 X 1074 mol L] S‘
1)  Which of the following is an example of a solid - 2 [Mmh_z W
. solution in which the solute is a gas ? : ) it e I
' . .« [March-2020] (A) 2.5 % 10“5‘ it oo i
(A) Amalgam of mercury with sodium (B) 8.3 x 107 mol L™ § \ ¢ o1 4 ]
(8) Camphor in ni b (C) 7.5 x 10~ mol L™ §~ |
phor in nitrogen gas e
(C) Solution of hydrogen in palladlum (D) 5 x 104 mol L1 § it &
(D) Oxygen dissolved in water ; 8) ' Which of the followmg graph for In k- - :H E
2) We have three aqueous solutions of NaCl , (1ot [Mar chQ
labelled A, ‘B’ and ‘C’ with concentrations correct ? i 02 & |
0.1 M, 0.01 M and 0.01 M respectively. The odl s ,5@ } £
value or Van't Hoff factor for these solutions ‘ ’T % .
will be in the order ......... el [March-2020] | « ) i B) In k T ‘
A) ig=ig=1i, B) ic > iy > i, e e i ol
el = s (D)ig > iy > i & A0 e . ._) |
3) An electrochemical cell can behave like an T : T 1
. electrolytic cell when ............ . [March-2020] " 1 -
(A) By < Egpp. (B) Ecepp > Eope ©) Ink O)Ink|
(C) Egey = Eext. (D)Eg; =0 : e o - : ‘ ;
4) Which is increasing order of the reducing Rl e, 1 =
power of the following metals on the basis of . T , T
standard electrode potential ? [March-2020] | g) The role of catalyst is to change ... i
Ag*/ Ag = 0.80 V Mg?* | Mg = —2.37V [Ma,ch. f’g
Hg?* / Hg=0.79V  Cr3* / Cr =074 V .. (A) Gibbs energy of reaction
(A) Hg<Ag<Mg<Cr (B)Cr<Mg<Ag<Hg' (B) Enthalpy of reaction .
(C) Mg<Cr<Hg<Ag (D)Ag<Hg<Cr<Mg (C) Equilibrium constant of the reaction |
5) A3 is equal to ........ : B e .
) (Al)n(ll:i\c) e eq“zl to o [March-2020] (D) Activation energy of the reaction
FEAS 4
A:n R s S : Rbioas) 10) - The mixture that forms maximum bo 'i
B) Amgcy + ANaao) = Adngvacy azeotrope is : - .
C) A° °
ED; Am(KCD ..+. im(KAC) AX’G{CD (A) Heptane + Octane
mKC) " “'mNaAc) ~ Am(Nacl) (B) Water + Nitric acid
6) While char the lead t !
ging b se t[’;tteri {C) Ethanol + Water
arch-2020] D "
(4) PbSO, on cathode is changed to pp, 3 ::ai Acetone + Carbon disulphide :
(B) PbSO, on anode is changed to b soﬁ:l:te Vfant Hoff factor () for an ag
: n
(C) PbSO, on cathode is changed to Pho, dlssociau:n &)[Fe(CN)sl having a degree A
_ (D) PbSO, on anode is changed to Pbo,, PR s, equal to 0.778. | i
' s =t B33 (0222 (D)“g»334 '




——
12) A 500g toothpaste sample hag

14)

15)

16)

(@A) 8

19

18).

19)

. ..(A) spd, triagonal pyramid
+ (B) sp?, tetrahedral

- Which is paramagnetic from the following ?

poard’s Question Papers
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0.2g fluorid
What is the conc e lom 1.
e ot eéntration of fluoride ion in
(A) 400 (B) 100Q (C) 250 (D) 200

" Which of the following solutj
N st Doty b s on having the

(A) 0.1 m glucose (B) 0.1 m KCl
(C) 0.1 m Na,SO, (D)0.1 m AlCl,
Which of the following is correct Nernst
equation for the given electrochemical cell ?
3+ = )
Al(s) IAI(NI) 0.1 M I Cl(aq) 0.1 M) | Clz(g) (1 bar) | Pt
0.059
(A) Ecay =BGy~~~ log—_1
A [l
=43
0.059  _[CI']
3 [AI*)
0. 3+
(€) Eceq) =B — 222 log A
3 [crp
0.059
(D) Ecey = Egell - 6
To reduce 1 mol MnOg! into Mn?*, how much
coulomb electricity is required ?
(A) 96500 C (B) 1.93 x 10° C
(C) 4.83x 10°C (D)9.65 x 108 C

The t,, = 20 s of a first order reaction is 20 s.
How much time will it take to reduce the

B) Ecen = Egell -

log [AI3*12[C17|°

1
concentration of the reactant to its E‘h value ?

(B) 81 (C)75 (D) 90

When initial concentration of the reactant is
doubled, the half-life period of a zerq-order

(A) remains unchanged. (B) is halved.
(C) is tripled. (D) is doubled.

Fe2+, ZnO, Hg?*, Ti*4 .
(A) only Fe?* (B) Zn® and Ti*
(C) Fe,?* and Hg?* (D) Zn® and Hg?*
What is hybridization and shape of metal ion
present in Wilkinson catalyst ?

(C) dsp?, square planar

20)

21) -

22)

23)

24)

25)

26)

127)

28)

(D) d?sp3, octahedral

" of the reaction :

The magnetic moment if a divalent ion in
aqueous solution if its atomic number is 25 :

[March-2020]
(A) 2.84 BM (B) 5.92 BM (C) 4.90 BM (D) 3.87 BM
Which of the following is amphoteric oxide ?
Mn,0,, CrOj3, Cr,0,, Cr0, V,0,, V,0,
[March-2020]
(A) V,0;, Cr,04 (B) CrO5, V,0,
(C) Mn,0,, Cro (D) Cr,05, Mn,0,

Which of the following element having
one electron in 5d orbital in its electronic
configuration ? [March-2020]

(A) Pm (B) Tb (C)Nd (D) Gd
Which of the following is the most stable

complex ? [March-2020]
(A) [Fe(H,0)q1%* (B) [Fe(NHg)g1>*
(C) [Fe(C,04)31%" (D) [FeClg)3-

Molecular formula of tetra-ammine-aqua-
chloridocobalt(Ill) chloride is

[March-2020]
(A). [Co(NH,),(H,0)CIICly
(B) [Co(NH,),(H,0)CIIClL,
(C) [Co(NHj3),(H,0)1Cl3
(D) [Co(NH,),(H,0)Cl];Cl,
Which of the following compound has highest
reactivity towards Sy1 reaction ? [March-2020]
(A) CgH.C(CH,)(C¢Hg)Br (B) CgH;CH,Br
(C) CgH5CH(C¢H;)Br (D) CgH;CH(CH3)Br
Which of the following has the highest dipole
moment ? [March-2020] _
(A) CH,Cl, (ByCHCl; (C)CCl, (D) CH,4CI
The position of -Br in the compound in
CH4CH = CHC(Br) (CHy), can be classified as...

[March-2020]

(A) Benzyl (B)Aryl (C)Vinyl (D) Allyl

The IUPAC name of the major organic product
[March-2020]

CH,CH,CH = CH, + HBr _Peroxide

(A) 1,2-Dibromobutane (B) 2,2-Dibromobutane

(C) 1-Bromobutane (D) 2-Bromobutane



29)

30)

31) -

32)

33)

34)

35)

36)

37)

Std.
| ATl |
—__m?i]us:nm of monoll)’dl‘;ic Plf:"l having A ..s i NHz : ; 4
ol formi rHO ..&amh_zozm ¢ @_N=N u
gy 7 ©1 D2 _._'(')f;f‘
::e ieagent ((l;())‘:n the given reactlon is phenOl (C) ON N
i gt e B O S G
(A)z ?rj GUignoH . (Y BeTres | 38) Hv1tamln cannot be's'tloreﬁd in a body
(C) Bromine water (D) Br,/CS, | <4 51 2 [Mal'ch'202(1]

“Which of the following compound has highest | 741 oo, n gyat T o)A T @k
Boltlngpotbd %% o mgcy-ZOZOI 39) Which of the followmg base is not presentj,

" (A) Butan-2-ol (B) Butan-1-ol DNA 2 [March-20y,
(C) Pentan-1-ol (D) Propan-1-ol (A) Uracil (B) Adenine -, -y,
Conjugate base of which of the following acid (C) Guanine (C) Thymine
‘I1s'weak 2 [March-2020] 40) Which of the following pair of protein j;
(A) CH;CH,CH(Br)COOH ' globular protein ? [March-202]
(B) CH3CH,CH(F)COOH P-keratin, Q-Insulin, R-myosin, S- aIbumm 3
(C) CH3CH,CH(I)COOH (A) PR B)Q, R (C)R, S (D) Q, ¢

(D) CH,CH,CH(C)COOH 41) ' Thyroxine is iodinated dern(atwe of whm;
Sodium salt of which acid is used as food amino acid ? ' [Nla‘rc;h\-‘zozo]
preservative ? [March-2020] " (A) TYrosine (B) Cysteme ¥
(A) Phthellic acid (B) Adipic acid (C) Glutamine (D) 'Ii'yptophan h
(C) Formic acid (D) Benzoic acid 42) Co-ordinate number, oxidation number.
Which of the following compound does not " number of electrons in d-orbital and number
give reaction with Hinsberg’s reagent ? of unpaired electron of central metal Co in

[March-2020] [CoNHy),,CO;ICIO0, 2

(A) Triethyl amine . A 6360 ®7,271
(B) Tertiary butyl amine ©6,273 D)7, 1, 6 4 (roh
(C) N-methyl aniline 43) Which of the following complex possesseﬂ

y linkage isomerism ?

*(D) 1-methyl cyclohexylamine (A) [Co(NH;)5(NO,)I12* (B) [Co(H,0) CO]3+ :

compound gives Hofmann bromamide (©) [Fe(en),CL,}* (D)None -";) ¢ :h ; !

;W P aaar20001 44) ° Mark the corzrect order of d maci?k
(A) Ethyl cyanide (B) Ethenoic acid e gth i the following comecrea:l:g
(C) Ethenamide (D) Ethenamine e POV

The reaction ArN4Cl- -S&/HA , Arc4 N 5+ CuCl '

is named as ........... [March-2020] P

(A) Sandmeyer reaction (B) Gatterman reaction : 3 38

(C) Claisen reaction = (D) Carbylamine reaction | (II) am . oay W)

Which of following is structural formula of | (A) V>IV>II>1> I ; B) I > IV > 1 > 1>V

orange dye ? [March-2020] (C) IV>V>III>II>I (D)V>IV>IH>II>I

-
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45)

AR

phenol on heating with 5 holi
Chloroform represent which, :e::tgof?H and

(A) Reimer-Tiemann (g Kolbe-Schmitt
(C) Gatermann (D) Cannizaro
Which is Hell-Volhard-Zelinsky reaction ?
(i) X,/ Red Phosphorus
20
R(lZH - COOH X = (], Br)
X

® RCOOH —LAlH, | RCH,0H

+ NH3, A
e A
_H2

(D) RCOOH + R'OH

(A) RCH,COOH

(C) RCOOH RCONH,
H30*

————~3 RCOOR' + H,0

48)

49)

COOH

: NO
0) (i) @ 2 i) @
NO,

Which of the following order of acidic strength
is correct for the following compounds ?

COOH COOH COOH

(iv)
CHj3 :

(A) @) < @) < (v) < (i) (B) (i) < (iv) < () < @)
(C) (i) < (iv) < (ii) < () (D) () < (iv) < (@) < (iii)

Which product is not obtained by aldol
condensation reaction between propanal and
ethanal ?

(A) but-2-enal (B) 2-methylbut-2-enal
(C) 3-methylpent-2-enal (D) pent-2-enal

47) The carboxyl functional group (-COOH) is ] '
present in ........... 50) Molality 30% w/w aqueous solution of NaOH
. (A) Picric acid (B) Barbituric acid B | [March-2020]
(C) Ascorbic acid (D) Aspirin (A) 10.71m (B)8.32m (C)75m (D)9.17m
Time : 2 Hours] - PART - B [Total Marks : 50
P EG ,§e¢g‘9§l};§\ ot %. w 7 i ﬁ 11) Write the reaction equation to show the presence
¢ Wirite the answer of any 8 questions from given of -CHO and >CO group in Glucose.
question number 1 to 12. (Each of 2 marks) [16] [March-2020]
1) Write two difference order of reaction and | 12) Give explanation about hetrocyclic base present
~ molecularity. [March-2020] in structure of nucleic acid (Structure are not
2) Write reactions occurring at anode and cathode required).
in mercury cell. S Section s B
ol isomers of | ™ i Lodth s e :
3) Draw structures of geometrical 1som ¢ Write the answer of any 6 questions from given
[Fe(NH,),(CN),]". [March-2020]
32t £ val bond question number 13 to 21. (Each of 3 marks) [18]
i imitati ence bo
4 ﬂwl"te any four hm“a“"n; d° ‘;M S h.2020] | 13)  Calculate (2) molality (b) molarity and (c) mole
eoty Of comsplex RO PONAL . (o of fraction of KI if the density of 20% (w/w)
5) What is meant by ‘Dispropomfnatmn of an aqueous KI is 1.202g mL-1.
b 9 & minle.
axidation state ? Give an ExRmp tic while TiCl 14) Write a note on Lead-stroage cell.
: >pEncei etic
: i(:l\(;?ai{:aasonﬁ. TiCl, is paramagr * 15) Derive the formula of first order reaction for,
gnetic. .
7 Write two step-equation for the following (nJRate constar-lt K . o
conversion : Benzene to Diphenyl [March-20201 (if) Half life period 1 (graph is not require ).
8)  Give difference between Syl and Sy2 (Any two [Ma1:ch-2020]
points). | 16) Describe the preparation of potassium dichromate
9  Write chemical reaction to form Salicylic acid from iron chromite ore with equation.
from phenol. | - [March-2020]
10) Write the reaction of aniline and ethenamine 17) Give reactions of aryl halides with metals.

; arch-2020]
with nitrous acid. Lo
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‘ .. solution is 520 Q, calculate the conducuvny

18)  Write the equatlon of thev reaction of hydrogen 3 ol randubtivity of 0.03 mol L1 KCl soluti,

il Ll e The conductivity of 0.1 mol L1 KCl solutigy ;.
(r5. () 1-Propoxypropane .. :: 109 1295 mL , - [MaICh-zogp
P e tha e S O i) ) | 2ey -For a first order reaction, show that time Tequig
* (iii) Benzyl ethyl ether v ¥ s for 99% completion is twice the time 1'eqmred
19) ; Write reduction reaction of aldehyde and ketone for the completlon of 90% of reaction.
by Wolff-Kishner reduction reaction. 25) (i) Explain that complex [Ti(H, )3 is voilell
20) Explain bromination of amhne by electrophlhc Lia colour, on Uhe bagis of crystal field th GOry
ety . (ii) Discuss the nature of bonding in et a]“
21) How will you convert 4-nitrotoluene to carbbnyls ., - , H [MaICh-zozo]'
o s ‘ Give only chemlcal equatlon for followlllg
ey N & Sectlon C reaction : |
¢  Write the answer of any 4 questlons from given (i) 'Ethanol heatmg with conc. HZSO4 at 413g
quesuonnumberzz to 27. (Each of 4 marks) [16] .+, tempreture. . . -. 105 odT
22) Two elements A and B form compounds having (ii) Phenol react with conc. HN03 -uig .
formula AB, and AB,. When dissolved in 20g of (iii) Preparation of anisol from phenol.
benzene (CgHg), 1g of AB, lowers the freezing (iv) Preparatin of benzene from phenol““

o s,

27) (i) Explain Tollen’s test for 1dent1ficatlon(of
aldehyde with chemical equation.” - -

(n) Write only equation of propanone ofghe
23) Resistance of conductivity cell filled with 0.1 pibliewipesedctians: 1ol STV

mol L1 KCl soluﬁQn is 100 Q. If the resistance of (a) Wolff-kishner reductions @ -2
the same cell when filled with 0.03 mol L-! KCl ! (b) Aldol condensation [March-Z%

0 O O
- 0. %° %>

point by 2.3 K whereas 1g of AB, lowers it by
1.3K. The molar depression constant for
benzene is 5.1 K kg mol-l. Calculate atomic
masses of A and B. [March-2020]
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